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Candidates must write the Code on the 

title page of the answer-book. 
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 ²}¾R  NOTE 

(I) qHc\p HcHy q²¾crIV Hc de} qH qBg 
\of²¾ \§Wc Yy N\y h}By 11 \¥²y¾ h²¾ & 

(I) Please check that this question 

paper contains 11 printed pages. 

(II) \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy 
H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ EWy kcvc qd§IV & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc 
qeM 15 \of²¾ h²¾ & 

(III) Please check that this question 

paper contains 15 questions. 

(IV) qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ 
\qhdp£, E¨Wc \tgqWHp qeM \of²¾ Yp 
n`p£H (grqcAd ²¥¾^c) kcvc qd§I} & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr  
15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ 
\§Wc geycy 10.15 eOy e¥Ty OpVJy & 
10.15 eOy W~ 10.30 eOy WH \orqIApcXr 
Hyed \of²¾ \§Wc ²¥¾v \mª²¾Jy AWy qBg g`y 
qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc 
²¾hs qdIVJy & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 

 

\¥Op^r  
PUNJABI  

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80  
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²}¾R : qdIpBr ftZ, gt¥Yc AWy It§dªr-It§dªr Hc²¾ Yp OW²¾ Hc} & 

1. hyS¾ qdIy \±cy ²¥¾v \mª Hy, qY§Wy \of²¾p£ Yy E¨Wc qdI} :  2+2+2+2+1=9 

 qgcl Ehr Yyg A`rc Wy `pd}`pd h} gHYy h²¾ qO²¾ªp£ Yy d}H Ap\Vy 

Ap\ dBr HtP ²¾ep£ g}M gHYy h²¾ & Ehr H¥` HcYy OpVp O} A§Jy qHgy ²y¾ Hc 

qdAp, ctHy qeHpg Yr q²¾fp²¾r h± & h}Vhpc `²§¾tI qBhr g}MYp h± qH h§Xdp H¥` 

q\§Ndy HrWy H¥` ²¾pd~ M¥Jycp h}ey & qOg H¡` Yp qBh qIApd h} Opey qH \¥O g¡ 

Op£ hkpc gpd \qhdp£ epdp Ore²¾ M¥Jp gr qBgy dBr Egy ²¥¾v hr q²¾fp²¾p 

cqIAp OpBy, Eg H¡` ²¥¾v qk¥YJr YrAp£ q\NdrAp£ HWpcp£ qe§M Id}Vp \|Yp h± & 

²¾gdp£ Yr `p²¾qgH AegXp E¨Wy hr Eh²¾p£ Yr Itfhpdr Wy gpcXHWp q²¾c_c 

HcYr h± & OY~ qHgy ²¾gd Yy d}H dHrc Yy ³Hrc h} Op£Yy h²¾, h`yfp qHgy Yy 

\pBy \vcq²¾Ap£ E¨Wy hr MdYy h²¾, Ap\s H}Br \vc²¾p \pEV Yr Ydycr ²¾hs 

cIYy, q\Nd§J AIepEV qe§M hr lic g`PYy h²¾ Wy }̀hcr h}V~ K^cp£Yy h²¾, 

Eg ²¾gd Yp epZp ct§H Op£Yp h±, t̂§Z }̀Rr h} Op£Yr h± Wy qk¥YJr qe§M~ gthO-

gtApY K§R Op£Yp h± & A±gr H¡̀  gtW¥Wc ²¾hs cqh gHYr & kcvc qHgy YvOr H¡` 

Yr Jtdp` ^V Op£Yr h± & g} qYom Hc²¾ epdr J§d qBh h± qH ²¾ep£ g}MV Wy 

Hc²¾ qe§M hr Ore²¾ Yr ²¾OpW h± & Yyg Yr E²§¾Wr Wp£ hr g¥_e h± Oy Wtgs H}Br 

²¾ep£ qiApd Yt²¾rAp ²¥¾v qYE & H}Br ²¾es HpU H§U}, H}Br ²¾ep£ gtI BrOpY Hc}, 

H}Br ²¾ep£ `pcJ d§_}, ²¾es g}M g}M} Wy ²¾ez A`d Hc} &     

\of²¾ : 

(A) qHhmr H¡` ²¥¾v qk¥YJr YrAp£ q\§NdrAp£ HWpcp£ qe§M Id}Vp \|Yp h± ? 

(B) qHhmr H¡` Op£ ²¾gd Yp epZp h}Vp ct§H Op£Yp h± ? 

(C) Yyf Yr E¨²¾Wr HY~ g¥_e h} gHYr h± ?  

(D) dHrcy A§Icp£ Yy AcX qdI} – dHrc Yy ³Hrc, BrOpY, HWpcp£, lic & 

(E) E\c}HW \±cy Yp UtHep£ qgcdyI qYG &   
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2. hyS¾ qdIr Hpqe-RtHmr ²¥¾v \mª Hy hyS¾p£ qY§Wy \of²¾p£ Yy E¨Wc qdI} :  23=6 

A`²¾ Yp qBh AqhY²¾p`p, ApG Yt²¾rApepqdG YgiW Hc} 

HpJk h± WHYrc Yp, Wy Hd` h± WY^rc Yr 

A§O Hd` Yy qe§M A`d Yr qgAphr _c}, YgiW Hc} & 

 \of²¾ : 

(A) qHg AqhY²¾p ỳ E¨Wy qHg²¥¾v YgiW Hc²¾ Yp g§Yp qY§Wp qJAp h± ? 

(B) qHhmy HpJk AWy Hd` Yr J§d HrWr JBr h± ? 

(C) Hd` qe§M qHhmr qgAphr _c²¾ dBr qHhp qJAp h± ?  

 ‘qeApHc²¾’¾ 

3. (i) ‘\qmªAp AWy qdqIAp’ dBr ghr g`pgr f^Y Yr M}V Hc} –  

(A) qdqIAp-\qmªAp 

(B) \qmªAp qdqIAp  

(C) \qmªAp-qdqIAp 

(D) \mªr-qdIr 

(ii) ‘gpl-gtXcp’ g`pgr f^Y Yp ghr f^Y-g`vh qHhmp h± ? 

(A) gpl AWy gtXcp 

(B) gpl dBr gtXcp 

(C) gpl Yp gtXcp 

(D) glpBr gtXcp 
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(iii) hyS¾ qdqIAp£ qe§M~ g`p²¾pcXr f^Yp£ epdy g`pgr f^Y MtV} : 

(A) Yt§Z-Yhs 

(B) qO¥Y-Op²¾ 

(C) A¡Ip-g¡Ip 

(D) Yyg-_JW 

(iv) hyS¾ qdqIAp£ qe§M~ ‘qKG-f§Hc’ g`pgr f^Y qHg f^Y g`vh dBr 
ecqWAp Op£Yp h± :  

(A) qKG AWy f§Hc 

(B) qKG Yr f§Hc 

(C) qKG epgWy f§Hc  

(D) qKG dBr f§Hc 14=4 

4. (i) ^htAcXH f^Y qHg²¥¾v Hqh¥Yy h²¾ ?  

(A) qHqcAp Yr qefyfWp Y§gV epdy f^Yp£ ²¥¾v 

(B) g`p²¾ AcX c§IV epdy f^Yp£ ²¥¾v 

(C) ²¾p£e Yr Xp£ ’Wy ecWy OpV epdy f^Yp£ ²¥¾v 

(D) qB§H W~ e§Z AcX c§IV epdy f^Yp£ ²¥¾v 

(ii) ‘hpd’ f^Y Yy ^htAcXr f^Y MtV} – 

(A) hpdW, ep£J 

(B) gvWc, hpdW 

(C) e§Tp H`cp, hpdW 

(D) qBg eydy, q`S¾pg 
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(iii) ‘hXdp H¥` NyWr-NyWr \vcp Hc dG qHE¤qH Hc`y Yp ^p\v \vcp h} 
qJAp h±, EhYy g¥gHpc Wy OpVp h± & Hc`y Yp ^p\v \vcp Yyg-_JW  
gr &’ qBg epH qe§M ‘\vcp’ f^Y qW¥²¾ epc ApqBAp h± & YvOr epc 
ApBy ‘\vcp’ f^Y W~ Hr _pe h± ? 

(A) IW` Hc²¾p 

(B) `tH¥`d 

(C) `c qJAp 

(D) gpcp 

(iv) hyS¾ qdqIAp£ qe§M} ‘T¥Tr’ f^Y Yy ^htAcXr ²¾hs h± : 

(A) cph, JqhVp 

(B) qWdH, ^vRp 

(C) qegcp` qM¥²¾ª 

(D) g}Rr, cph 14=4 

5. (i) gXp²¾epMH qHqcAp qefyfV qHqcAp Yp Hr Y§gYy h²¾ ?  

(A) Xp£ 

(B) ²¾WrOp 

(C) g`p£ 

(D) qJVWr 

(ii) ‘H§dª’ f^Y qHqcAp qefyfV Yr qHhmr qHg` h± ? 

(A) Hpc²¾epMH 

(B) \oHpcepMH 

(C) g¥qIApepMH 

(D) HpdepMH 
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(iii) ‘gt²¾rd Br`p²¾Ypcr ²¾pd H¥` HcYp h± &’ epH qeM~ qHqcAp qefyfV 

MtV} – 

(A) gt²¾rd 

(B) Br`p²¾Ypcr 

(C) H¥` 

(D) HcYp h± 

(iv) qHqcAp qefyfV YrAp£ qH¥²¾rAp£ qHg`p£ h²¾ ? 

(A) Mpc 

(B) A§S¾ 

(C) Yg 

(D) ^pcªp£ 14=4 

6. (i) ‘Zc`’ AWy ‘q²¾c’ AJyWc dp Hy Y}-Y} f^Y ^VpG & 

(ii) ‘hrV’ AWy ‘Ypcr’ q\NyWc dp Hy Y}-Y} f^Y ^VpG & 22=4 

7. hyS¾ qdIy `thpeqcAp£ Yp AcX g\fR HcYy h}By epH ^VpG : 14=4 

(i) H¥²¾ _c²y¾ 

(ii) qKG-qIMmr h}Vp 

(iii) Ov²¾ _tJWVp 

(iv) Mpc M¥²¾ dJVy  
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 ‘qdIV H¡fd’ 

8. hyS¾ qdIy qeqfAp£ qe§M~ qHgy qB§H  qefy E¨Wy qY§Wy h}By ²¾®HqWAp£ Yy ApZpc ’Wy 

200 f^Yp£ Yp dyI qdI} : 10 

‘²¾p²¾H YtIrAp g_t g¥gpc’ 

 ²¾®HWy — • Jtcv ²¾p²¾H Yye Or Yr EMpcr WtH, • Ore²¾ Yr ARd g§MpBr,  

• `²§¾tI ²¥¾v _tdyIp qH `| hr YtIr hp£, • A`rc `p²¾qgH YtIr, • Jcr^ ApcqXH 

W¥Jr W~ YtIr, • Yt§I Yp `²§¾tIr Ore²¾ qe§M Ipg gXp²¾, • Yt§I qe§M g¥Kcf 

Hc²¾ ²¾pd Egpcv H¥` ht¥Yy h²¾, • Yt§I qe§M qg`c²¾ ²¾pd ApW`H ^d Yr 

\op\Wr, • qg§Rp & 

Op£ 

‘\tgWHp£ g_ W~ M¥Jp gpXr’ 

 ²¾®HWy — • Ore²¾ qe§M qcfqWAp£ Yp `hW§e, • \tgWHp£ Yp `h§We, • \tgWH – 

qBH M¥Jp gpXr, • \tgWHp£ YrAp£ qHg`p£, • \tgWHp£ Yr M}V eydy gtMyW,  

• qg§Rp & 

Op£ 

‘`qh¥JpBr Yr g §̀qgAp’ 

 ²¾®HWy — • _vq`Hp, • `²§¾tI YrAp£ v̀d kcvcWp£, • `qh¥JpBr Yr g`§qgAp : 

qefe-qeAp\r, • `qh¥JpBr Yy t̀§I Hpc²¾, • gcHpc e§d~ S}¾g HY` & 
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9. hyS¾ qdIy ²¾®HqWAp£ Yy ApZpc ’Wy H}Br qB§H \§Wc qdI} : 8 

 Ap\Vy q §̀Wc Op£ ghydr ²¥¾v qM§S¾r qdI} qOg qe§M EgYr _±V Yy h}V epdy 

qeAph qe§M ^yd}my IcMy ²¾p Hc²¾ Yr Jtkpqcf HrWr Opey & 

²¾®HWy – • gqWHpc _cy f^Y • qeAph Yr eZpBr • gpYp qeAph Hc²¾ Yr 

WpHrY • ŷd}my IcMy ²¾p Hc²¾ Yr q^²¾Wr • Ehr \±gp qHgy M¥Jy H¥` dpEV Yr 

gdph • Z¥²¾epY • Ap\Vp qgc²¾pep£ & 

Op£ 

 \oHpfH H}d~ Wtgs \tgWHp£ `¥JepBrAp£ g²¾ \c Eh \tgWHp£ ^mr hr 

`pmr hpdW qe§M h²¾ & hyS¾ qdIy ²¾®HqWAp£ Yy ApZpc ’Wy \oHpfH ²¥¾v \§Wc  

qdI} & 

²¾®HWy – • gqWHpc _cy f^Y, • q\Ndy h³Wy \tgWH-gvMr A²¾®gpc \tgWHp£ 

`¥JepBrAp£, • HtP \tgWHp£ Yr hpdW `pmr, • qkdY ³Rr... N\pBr S¾rH ²¾hs 

• \tgWHp£ ^Yd Hy OdY W~ OdY _yOV Yr WpHrY • Z¥²¾epY • qgc²¾pep£ 

(Ap\Vp) & 

10. Wtgs Ap\Vp Yt\hrAp gHvRc eyMVp Mpht¥Yy h} & Eg dBr ApHcfH qBfqWhpc 

50 f^Yp£ qe§M qWApc Hc} & 7  

Op£ 
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hyS¾dr Wgerc ²¥¾v eyI Hy 50 f^Yp£ qeM EgYp ecV²¾ Hc} : 

 

(qgcl ²y¾Wchr²¾ qeqYApcXrAp£ dBr) 

Wtgs Ap\Vy gHvd qe§M g_ ²¥¾v \dpgqRH Yr X±dr (\}drXr²¾) Yr ecW~ ¥̂Y 

Hc²¾ dBr g`PpE¤Yy h}By 50 f^Yp£ Yp g¥Yyf qdI} & 

 

 \pS¾-\tgWHp£ ’Wy ApZpqcW \of²¾ – 

11. AqW N}Ry \of²¾ (^htqeHd\r) 14=4 

(i) cO²¾r Yp ²¾p£ qHg AepcT dBr _yOV Yr qglpqcf HrWr ? 

(A) gHvd Yp gdp²¾p AepcT 

(B) `t§I`¥Wcr AepcT 

(C) \oZp²¾`¥Wcr AepcT 

(D) cpfRc\Wr AepcT 
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(ii) \y\c iW` h}V W~ ^pAY `r²¾pHfr qHg Yy Kc Mdr JBr ? 

(A) ²¾p²¾r 

(B) YpYr 

(C) _vAp 

(D) `pgr 

(iii) qHhmp c}J g_ W~ e§Tp h± ? 

(A) n}Z 

(B) hF`| 

(C) dpdM 

(D) ^yBr`p²¾r 

(iv) Rc±qH¥J Yy Y¡cp²¾ cpf²¾ t̀§HV Wy Hr Ip Hy Jtkpcp HrWp ? 

(A) ^cl Yr Htdlr 

(B) l§d 

(C) `§Nr 

(D) H§Mr g^kr  

12. AqW N}Ry \of²¾ (qB§H f^Y epdy) 14=4 

(i) Ap\Vr qHcW qeM~ Hr H§UVp MphrYp h± ? 

(ii) `p£ ^}dr Yr Itf v̂ qHg²y¾ `pVr h± ? 

(iii) cp` _O²¾r Yy \Wr Yp Hr ²¾p£ gr ? 

(iv) ‘^y^y cp` _O²¾r’ qBHp£Jr Yp dyIH H¡V h± ?  
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13. hyS¾ qdIy \of²¾p£ Yy E¨Wc 25 W~ 30 f^Yp£ qe§M qYG : 23=6 

(i) Y}ep£ JtAp£UVp£ qe§M AV^V Yp Hr Hpc²¾ gr ? 

(ii) Mpc g¡ `rRc Yr Y¡m qe§M OJW \oqg§Zr hpgd Hc²¾ dBr q`dIp qg¥K 
²¥¾v qH¥²¾p ’Ht Aq_Apg Hc²¾p q\Ap ? 

(iii) Zc` ^pcy Tp. Hdp` Yy Hr qeMpc g²¾ ? 

14. e§Ty E¨Wcp£ epdy \of²¾ (E¨Wc 50 – 60 f^Yp£ qe§M) – 3 

‘Jt¥` ²y¾ cg}Br qe§M~’ HqeWp cphs Her Hr HqhVp Mpht¥Yp h± ?  3 

Op£ 

\o}. JpcTc ²y¾ qHhmrAp£ A§S¾ t̂§ZrAp£ Yp Itdpgp HrWp h± ? ²¾p£ Yg} & g¥JrWH 

^t§Zr qeAHWr qe§M qHg Wcªp£ Yp q²¾Ipc qdAp gHYr h± ? ‘HdpW`H ctMrAp£ : 

\oqHcWr AWy \qhMpV’ dyI Yy AZpc Wy Y§g} & 

15. ‘^y^y cp` _O²¾r’ qBHp£Jr cphs qBHp£JrHpc Hr HqhVp Mpht¥Yp h± ? E¨Wc  

50 – 60 f^Yp£ qe§M qYG &  3 

Op£ 

‘^y^y cp` _O²¾r’ qBHp£Jr Yy `t§I Mqc§Wc Yp MqcWc qMWc²¾ 50 – 60 f^Yp£ 

qe§M Hc} & 

 


